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BACHELOR OF ARTS (GENERAL) 

(BAG) 
Term-End Examination  

December, 2024 
BECC–132 : PRINCIPLES OF  

MICROECONOMICS–II 

 Time : 3 Hours    Maximum Marks : 100 

Note : (i) Answer questions from each Section as 

 per the instructions. 

 (ii) Section A : Answer any two questions 

 from this Section. 

 (iii) Section B : Answer any four questions 

 from this Section. 

 (iv) Section C : Write short notes on any 

 three from this Section.  

Section—A 

Note :  Answer two questions from this Section. 

 2×20=40 
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1. (a) Explain the long-run equilibrium of a 
 perfectly competitive firm using a diagram. 

10 

 (b) Why is the demand curve under Monopoly 
 downward sloping ? Explain the 

 relationship between AR, MR and price 
 elasticity under Monopoly. 10 

2. (a) How is the Ricardian theory of  

 rent  different from the modern theory of 
 rent ?   10 

 (b) Derive the demand for labour in a 

 competitive market. How is value of 
 Marginal Product and Marginal Revenue 
 Product curve relevant in the derivation of 
 labour demand ? 10 

3. (a) What are externalities ? How is the role of 
 government important in solving the 
 problem of externalities ? 10 

 (b) How is Pareto optimality achieved in a 

 perfectly competitive market ? Explain 
 using diagram.  10 
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4. (a) How is comparative advantage theory of 
 Ricardo an improvement over Adam 
 Smith’s theory of absolute advantage ? 10 

 (b) Explain the TRIPs and TRIMs agreements 
 of WTO. 10 

Section—B 

Note : Answer any four questions from this  
         Section. 4×12=48 

5. What is deadweight loss under Monopoly ? 
Explain using diagram. 12 

6. What is quasi rent ? How is it different from 
economic rent ? 12 

7. What are Public goods or Social goods ? Explain 

its two properties using examples. 12 

8. What is excess capacity ? How is it different 

from optimal capacity under Monopolistic 
Competition ? 12 

9. Explain the theory of profits. Differentiate 
between economic and accounting profits. 12 
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10. If   P = 20 – 2Q and C = 80 + 2Q2, find the profit 
maximizing levels of output and price using the 
above information. 12 

Section—C 

11. Write short notes on any three of the following : 

3×4=12 

(i) Shut Down Point 

(ii) Prisoner’s Dilemma 

(iii) Moral Hazard 

(iv) Price Discrimination under Monopoly 

(v) Marginal productivity theory of factor 

       pricing  
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BECC–132 

dyk Lukrd (lkekU;) 

(ch-,-th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-lh-lh-–132 % O;f"V vFkZ'kkL=k ds fl¼kUr&II 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % (i) izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj 

 fyf[k,A 

 (ii) Hkkx&d % fdUgha n k s iz'uksa ds mÙkj fyf[k,A 

 (iii) Hkkx&[k % fdUgha p kj iz'uksa ds mÙkj fyf[k,A 

 (iv) Hkkx&x % fdUgha rhu ij y?kq fVIif.k;k¡ 

 fyf[k,A   
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Hkkxµd 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj nhft,A 

2×20=40 

1- (d) ,d js[kkfp=k dk iz;ksx dj iw.kZ izfr;ksxh IkQeZ 

 dh nh?kZdkfyd lkE;koLFkk dh O;k[;k  

 dhft,A 10 

 ([k) ,dkf/dkj esa ek¡x oØ uhps dh vksj <yok¡ 

 D;ksa gksrk gS \ ,dkf/dkj ds varxZr AR, MR 

 vkSj dher yksp ds chp lEcU/ dh O;k[;k 

 dhft,A 10 

2- (d) fjdkMksZ dk yxku dk fl¼kUr vk/qfud fl¼kUr 

 ls fdl izdkj fHkUu gS \ 10 

 ([k) ,d Li/hZ cktkj esa Je ds fy, ek¡x oØ dh 

 O;qRifÙk dhft,A Je ds ek¡x oØ dh O;qRifÙk 

 esa lhekar mRiknu dk ewY; vkSj lhekar vkxe 

 mRikn ewY; fdl izdkj ls mi;ksxh gksrs  

 gSa \  10 
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3- (d) ckárk,¡ D;k gksrh gSa \ ckárkvksa dh leL;k 

 lqy>kus esa ljdkj dh Hkwfedk D;ksa egRoiw.kZ  

 gS \  10 

 ([k) iw.kZ izfr;ksxh cktkj esa iSjsVks bZ"Vrk dh izkfIr 

 fdl izdkj gksrh gS \ ,d js[kkfp=k }kjk 

 le>kb,A 10 

4- (d) fjdkMksZ dk rqyukRed ykHk fl¼kUr ,Me fLeFk 

 ds ije ykHk ds fl¼kUr dk ifj"dkj fdl 

 izdkj gS \ 10 

 ([k) fo'o O;kikj laxBu ds vUrxZr TRIPs vkSj 

 TRIMs laf/;ksa dh O;k[;k dhft,A 10 
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Hkkxµ[k 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj nhft,A 

 4×12=48 

5- ,dkf/dkj esa furkUr gkfu D;k gksrh gS \ ,d fp=k 

}kjk le>kb,A 12 

6- vkHkkl yxku D;k gS \ ;g vkfFkZd yxku ls fdl 

izdkj fHkUu gksrk gS \ 12 

7- lkoZtfud ;k yksdkFkZ inkFkZ D;k gksrs gSa \ mnkgj.k 

}kjk budh nks fo'ks"krk,¡ le>kb,A 12 

8- vfrfjDr {kerk D;k gS \ ,dkf/dkjh izfr;ksfxrk esa 

;g bZ"Vre {kerk ls fdl izdkj fHkUu gksrh gS \ 12 

9- ykHk dk fl¼kUr le>kb,A vkfFkZd vkSj ys[kkadu 

ykHk esa Hksn dhft,A 12 
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10- ;fn P = 20 – 2Q vkSj C = 80 + 2Q2 gks] rks mRiknu 

vkSj dher ds ykHk dks vf/dre djus okys Lrj 

Kkr dhft,A  12 

Hkkxµx 

11- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ 

fyf[k, %    3×4=12 

(i) dkecanh fcUnq 

(ii) canh dh nqfo/k 

(iii) uSfrd }U} 

(iv) ,dkf/dkj esa dher foHksnu 

(v) lk/u dher fu/kZj.k dk lhekar mRikfnrk fl¼kar 

 

 

 × × × × × × ×  
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